T4 A (32
7 E otd
@ (1, -1)

, B (=1,2) ol &2 Aol e x5 A H P 9

@ (-1, 0) @(1, 0)
® (2, -1)

P (x,0) 02t oFH (x—3)2 + 22 = (x + 1)% + 22




2.

FHAA(-1,3),B(6,-2)° ol AB &3 : 2 2 HESH= H2

WEH e #HEE P(x, y) 2t 5td
L 3x642x(-1) _ 16
3+2 5
3x(-2)+2x3
V=T aer

16
- p(20)
5 0

0
~ =90
)




3.

o= 283 Zo] AB E F3olsE st Ad IS y=ax+ bt T
o, g+ b 2] F2?

B(0,4)

@O 4 @)2 @1 @ -2 ® -4

— 4 —
Msﬂﬂ%ﬂ%a—gz—zﬂﬂi
Fohe MA9) 71871  olk
EABOTHM2
2+0 0+4
M(——, ——) = (1,2
(=5 =12
uhhA], ot A4 A2
1 1 3
y—2—§(x—l)..y—§x+§
13
atb=Z+-=2
a-+ 2~|—2




HER AL (2 4 (2 3
37 v +2ax+2by+c=02 = =
y : = Ueo] A= o] y Sof

@bQZC @ 2=b ® a?=c
@ c*=a ® b=2c




